





Ross has (8x – 5) tickets for Chuck E Cheese. 
He is going to play today and wants to buy a 
prize that is (15x + 1) tickets. How many 
tickets must he win to have enough tickets to 
buy the prize?  

The profit a business makes is found by 
subtracting the cost to produce an item C  
from the amount earned in revenue R. The 
cost to produce and the sales amount could 
be modeled by the following equations, 
where x is the number of items produced.  
C = 100x2 + 500x – 300  
R = 150x2 + 450x + 200  
Find an equation that models the profit.  
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